Pflanzabstinde in m

B B B

Obstart (allgemein) (schwachwiichsige Unterlage)| (starkwiichsige Unterlage)| Fst h H
Apfel 2,0-2,5 2,5-4,0 4,5-6,016,0-8,0
Birne 2,0-3,0 2,5-4,0 4,5-6,016,0-8,0
SiiBkirsche 4,0-6,0 5,0-7,0 6,0-9,016,0-9,0
Sauerkirsche 4,0-6,0 5,0-7,0 45-6,014,5-6,0
Pflaume / Zwetsche 3,5-4,5 4,5 -6,0 4,5-7014,5-7,0
Pfirsich 3,5-6,0
Aprikose 45-6,0 45-6,014,5-6,0
Quitte 2,5-4,0
Haselnuss 4,0-5,0
Walnuss 12,0 - 15,0
Kastanie 12,0 - 15,0
Johannisbeere 1,2-1,6 1,2-1,6 1,2-1,6
Stachelbeere 1,2-1,6 1,2-1,6 1,2-1,6
Himbeere 0,3-0,5
Brombeere (rankend) 2,5-3,0
Brombeere (aufrecht) 1,5-2,5
Wein 1,5-2,0
Kiwi (A. chinensis) 4,0-5,0
Kiwi (A. arguta) 2,0-3,0
Kulturheidelbeere 1,2-1,5
Erdbeere (1-jiahrig) 0,25-0,3x04
Erdbeere (3-jahrig) 0,3-04x035-04

B= Busch

Fst= Fuflstamm
h= Halbstamm
H= Hochstamm




